Second Term Examination - 2018-19
Sl(lc-(,

D: : <
ate  : 26.03-20 Sub.-English Total Marks - 80

Time . 2-00 :
0 to 5-00 Roll No. :-

Q.1 (A)  Answer the following questions, based on your village / city :- (5)
(1) What s the name of your city ?
() Inwhich district is your city ?
(3)  Which festivals are most celebrated in your city ?
() Which place do you like the most in your city ?
() Why do you like your city ?
(B)  Complete the dialogue using the words / sentences given in bracket :- (6)
(In English - IT paper, Why are you late today, I scored 60% sir, I have an injury in
- my leg. We were held up in traffic jam, yesterday also you came late to English
class)
Teacher :- Riyansh, ?
Riyansh : I came on foot. —_
Teacher :- —
Riyansh :- I came with my father on bike.
Teacher : How many marks did you score in English - I paper ?
Riyansh :-
Teacher :-
Riyansh :- I scored 48% only
Teacher :- Then you are careless in learning grammer.
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(C) Read below given paragraph and answer the following questions :- 5)
“David, Father and I are leaving one job for you to do this morning. “MOt}f{ said. .
Father said, “That’s right. Before you do anything else, fill tht? water tan.k. ButI
wanted go to the pasture to help Pete with the animals,” David complained.
“No,” said Mothet firmly, “Bring up the water first or it may not get done.”
Father added, “Boy, you’ll be in hot water if you don’t get your work done.” and
with that they drove away,
David walked back into the house. David, his father, mother and Pete had just
built this house. It was David’s job to fill the large water barrel.
The water was so low in the barrel that David couldn’t even touch the surface with
his finger tips. '
He sighed. He was a strong boy and he wasn’t a bit tired, but it made.him sighto
think of all the other things he’d prefer to do that cool, beauiful morning.
Questions :-
(1)  Which characters have been mentioned in the story so far ?
(2)  Which characters have spoken in the story ?
(3)  'Who do you think Pete is ?
(4)  What do you think Pete might be doing ?
(5)  David has many things he’d prefer do on a nice day besides carry water. What are
your favourite things to do on a nice day when you are free ?
Q.2 (A) Write the stanza on the basis of following sentences :- 3)
(1)  The sailors are surrounded by water but they are unable to drink one drop of
water.
(2)  The picture is complete only when all the colours are together. Though different/ -
unique the beauty of things lies in togetherness
(3) Never waste anything. Use only what is required.
(B) Answer the following in two-three sentences :- : ®
(1) Whatefforts did David and Pete together make to put out the fire ?
(2) Name four trees that belong to the family of tall trees.
(3) What is the meassage of the story ‘The crow and the pitcher’?
(4)  What are the walls of Aman Setu Primary School made of ?
/
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Choose the correct option and.write answer :-

What did Buddha do when the disciple, ask him to get a new robe ?

(A) Heimmediately gave him a new robe.

(B) He refused to givc him a new robe.

(C) He made sure that the old robe could not be used any longer.

The uniforms of the students of Aman Setu Primary School are coloured with

(A)Vegetable Dyes (B) Cow Dung (C) Soil

The rat - temple near Bikaner is known as temple.

(A) KarniMata (B) Charan - (C) Yama
Who named the tree ‘Sequoia’ ?

(A) JohnMayo (B) JohnMuir = (C) JohnMayor

The word ‘Pyro’ means in Greek.
(A) Water (B) Fire (© Air

Read the following paragraph and answer the given questions :-

Anu is a young woman who absolutely adores dogs. She owns a papillion
named Louie, a chihuahua named Isabella and a Siberian husky named Koda. -
Every weekend she takes her dogs to the dog park where they love to run, play

catch and meet other dogs.

When Anu took her pets to the park last Saturday, she almost lost poor little
Louie. She was playing catch with Koda when she lost sight of Louie. In a panic,
she started shouting his name and asked other dog owners if they saw her little
Papillion. After 30 minutes of searching and with the help of one dog owner, she
finally found him at the entrance of the dog park near a small store that sells Louie’s
favourite treats. Anu was delighted when she found Louie and bought all three of

her dogs their favourite treats.

Who is the woman in the story ?

What three aptivities do the do)gs lovetodo ?
When does this story take place ?

Where does this story take place ?

Why is Anuin a panic ?
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(B) Answer in two-three sentences :- ©
(1)  Write two advantages of ‘Reducing.’

(2) Whatdifferent materials can we use to prepare ‘Rangolis’ ?

(3) Write meaning of the idiom ‘music to your ears.’

(C) Choose the correct option and write answer )

(I) Vincent Van Gogh was a/an

(A) Environmentalist (B) Artist (C) Photographer

(2)  Inthe story “The Water Barrel - Part 3', Where was the smoke coming-from ?

(A) Ground Floor (B) Cellar Window (C) Outside the house.

(3)  The instrument ‘Hydraulophone’ uses___ - to produce music.

(A) Water B) Soil (©) " Air

(4)  Desalination is the pocess of ___
(A) Purifying impure water.
(B) Removing salt from sea-water.

(C) Adding salt to pure water.

) David and his parents were proud of their house because _
(A) It was near the river.
(B) They had built it by themselves.

(C) It was big and comfortable.
LY Write an essay of about 100 words on ‘any one’ topic. ©)
') The Importance of water
%) Modern Inventions

Photography

vidlew (uigoau) (¥) ¢ salr-u
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(B)  Answer the following questions given on the basis of timetable shown below :- @
Days 1 9 ;) 4 5 6 ) 7 8
Monday Eng. | Eng. [Science|Science | Maths Maths I?rawing Drawing
Tuesday  |Hindi |Hindi| Maths | Maths | Guj | Guj |Computer| P-E-
Wednesday GUji Guj | S.S. | S.S. Sci Sci Eng. | Eng(W)
Thursday |Maths|Maths| Eng. Hindi | Hindi Hindi GK Music
Friday Sci | Sci | Hindi | Hindi [Sanskrit [Work Exp] Sansl_én't EE
Saturday [M.D.|[ S.S. | PAT | PAT |Guj(W) ]

(1)  On which day period ofﬁusic is th;r; ?

(2) How many periods of English subject are there in a week ?

i3) Which subjects are once in a week ?

(4)  According to this timetable, In which period / subject you enjoy the most ?

(C) Write your own story on the basis of the clues given below :- (6)

A poor farmer - gets a wonderful hen - lays a golden egg everyday - farmer
becomes rich - greedy to become richer - cuts the hen - finds no golden egg -
repents his mistake - cries.
Q.5 Do as directed (16)

(1) Underline the verb and make a new sentence using the same verb :- €))
(1) Hereceived many gifts yesterday.
(2) Kruti plays at the park everyday.

(2) Underline the noun in the sentences given below 2)
(1) The moons shines brightly at night.
(2) The player started laughing.

(3) Identify the adjective, adverb and punct_uatibns used in the sentences. 6)
(1) Nidhi always speaks politely with her younger bother.
(2) Will you gently lift the basket of red roses for me ?

(4) Identify the idioms in the sentences. | "
(1) This is one of my favourite pieces of furniture which I got for a song from the Marke;
(2) Your words are music to my ears and so, I enjoy listening to you.

dl.e-(3iuL) il (Migeunt) W)
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Municipal School Board, Ahmedabad

Second Term Examﬁmtion - 2020

Std.-6
Date : 28-03-20 Sub.-Social Science Total Marks - 80
Time : 2-00 to 5-00 Roll No. :-
SECTION - A
e Choose the correct alternative from those given below each queastion. [16]
(1)  Whichis the oldest Veda ?
(A) Rigveda (B) Yajurveda (C) Atharveda (D) Samveda

(2)

What were the animals domesticated by Vedic people ?

(A) Sheep—Goat (B) Horse—Cow (C) Dog-Cat (D) Buffalo—Goat

(3)  Which Sarover is found in the Vadodara district from the following ?
(A) Sardar Sarovar | l (B) Nal Sarovar
(C) Ajwa Sarovar | ' (D) | Narayan Sarovar
(4)  Whichis the biggest river of Gujarat ?
(A) Sabarmati (B) Tapi (C) Mahi | (D) Narmada
(5) How many Mahajanpadas were tﬁere in the 6% and 7% century B.C. ?
(A) 8 B) 4 © 12 D 16
(6) Whatisthe tenure of all three Local self Government Institutions of Panchayatiraj ?
*) 3 ® 2 © s ©) 4
(7) Whois the administrative head of Jilla Panchayat ?
(A) Taluka Development Officer (B) District Development Officer
(C) ChiefOfficer (D) | Municipal Commissioner
(8)  Which is the main port of Gujarat ?
(A) Kandala (B) Veraval (C) Porbandar (D) Surat |
6l e- (.M wnlrs Rt : (1) sador-y
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By which name is the head of the Municipality known ?

9
~ (A) Chicfoflicer (B) Mayor (C) Nagar Sevak (D) Pregident'
(10) What was Siddharth’s wifename ?
(A) Yashoda (B)  Savitri (C) Yashodhara(D) Radha
(11)  What was the childhood name of Mahavir Swami ?
(A) Rahul " (B) Harshvardhan  (C) Mahendra (D) Vardhaman
(12) Which is the famous dance of Gujarat ?
(A) Ghoomar (B) Garba (C) Bihu (D) Bhangra
(13) Which is the smallest continent ?
(A) Asia (B) Europe ~(C)  Australia (D) Antarctica
(14) Who started the Vikram Samvat ? \
(A) Chandragupta—II ‘ | . (B) Chandragupta—I
(C) GautamBuddha D) | Emperor Ashoka
(15) Who was the greatest mathematician of Gupta age ?
(A) Varahmihir | | (B) Brahmgupta
(C) Bhaskeracharya | ' (D)  Aryabhatta
(16) Which continent is known as Penguif_l land ?
(A) Europe ~(B) Asia (C)" Antarctica (D) Australia
SECTION - B ‘
° Fill in the following blanks. 5]
(17) By the preaching of Buddhist saint , king Ashoka renounced weapons.
(18) Mahavir Swami is the Tirthankar of Jainism. |
(19) One should go to an open ground in case of
(20) Emperor Samudragupta had performed _____yagna.
(21) Tree stops erosion of
u.'l.e-(»i.y.) vl s [Asuq ‘ (R) 5 gaQ:JT
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Identify Me. .- 5]
+ (22) Ornaments are made from me.

(23) Tamthe head of Grampachayat.

(24) Tamaqueen of Lichchhavi dynasty.

(25) Tam the main cotton textile centre of Gujarat.

(26) Tam famous for Lion in whole Asia.

Match the following. (5]
A ‘B
(27) Kalidas (A) . Kanam Province
(28) Migrating bird (B) Asia
(29) Cotton (C) Famous poet
(30) Biggestcontinent . (D) CementIndustry
(31) Limestone (E) NalSarovar
(F)  Europe
State whether the following statements are true or false. 151

(32) Khakhra leaves are used to make bowls and plates of leaves.
(33) Gram Sabha meets m Taluka Panchayat. ,
(34) InGujarat Kheda district is a leading producer of rice.
(35) biscomcct the power supply at time of flood.
(36) Theré are’fomf types of transportation.
Classify. : A . ! [4]
(37) Classify the following hatural resources in the rivers and lakes.

Sursagar, Tapi, Nal, Aj awa, Narmada, Bhadar,' Banaa, Narayan

i . SECTION-C

Answer the following questidns in one-two sentences. [4]
(38) KingAshoka wanted to conquer which state ?

(39) Towhomwe should contact at the time of fire ?

(40) Write the names of sources of water.

(41) Which cropsare cultivated in Gujarat ?

-\“ﬁ_ .
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Answer the following questions in three-four sentences. (Any three) [9]
(42) What was inscribed on the stones by Ashoka ?
(43) Which festival do you like ? Why ?
(44) What was the preaching given by Gautam Buddha ?
(45) Writethe ﬂnporlancc of forests.
Define the following terms. (Any three) [6]
(46) Inscription
(47) Sanctuary
(48) Checkdam
(49) Transportation
SECTION-D
Give the reason. (Any three) | [9]
(50) ‘Rights’ and ‘Duties’ are the tw;) sides of the same coin.
(51) Suddharth left his wife Yashodhara and son Rahul. |
(52) Emperor Ashoka decidéd not to fight any battle in Future.
(53) Thereisaless population in Antarctica Continent.
Write short note. (Any two) ; | : (8]
(54) Natural and Man-made calamities
(55) Ourrights
(56) Conservatioﬁ'of water resources
SECTION -E

Show the following details with proper signs at proper places in the given lined map [4]
of Gujarat.

(57) GulfofKutch
(58) Narayan Sarovar
(59) Tropicof cancer

(60) Ahmedabad
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Second Term Examination - 2020

Std.-6
Date  : 27-03-20 " Sub.-Maths Total Marks - 80
Time : 2-00 to 5-0¢ Roll No. :-
SECTION -A
° Do As Directed. (Q. No. -1 to 28) (Each carry 1 Mark) %)
b Find the correct option from given below : (Q.N.—1 to 8)
(1) Inwhich figure do you ﬁlld numberous lines of symmetry.
@ ® A o O o (O
@ In which diagram do the lines represent the symmetry ?
@ [ @)K © @ ©) @
7 N BN ]
(3)  Which alphabetical pair shows vertical line of symmetry ? '
(A) AT | B) B,0 ) A, C D) D, T
4) VWhich alphabet reflects charge when viewed in the Mirrof ¥
(A G - ® 1 © 0 D X
(5) = The measures of angle is in between | | .
| (A) 0°t0100° (B) 0°t090° (C) 0°to180° (D) 0°to360°
(6)  Which of the following figure has the largest perimeter ? ‘
(A) 2/://? (B) m ©) ﬁ (D) O
(7) Whatis the another name of bar graph ?
(A) Circle graph (B) Linediagram
(C) Graphical diagram (D)  Column diagram
dl.g-(2d.uL) e (1)
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(8)  Write in decimal forms - scven ones and seven tcntI‘]s.
(A) 7.007 ®) 7.7 © 7710 (D) 7.07
L Fill in the blanks : (Q. No.9to 13)
(9) Before 5‘ years farhan’s age is Y, the currentageis — years.
(10) The variable in cquation 8 m + 20 = 60 is
(11) The value of variable in N~ 5=5 is
(12) There are 45 Matchsticks in one Matchbox. Such n’ boxes contains ___Matchsticks.
(13) A farmer builds a fence around his farm. The length of this fence is called its
e Answer in short. (Q. No. 14 to 23)
(14) Whatis the length of lace required to be blaced around a square table of 40 cm length ?
(15) Find the area of a square plot of side 8 m.
(16) Write how (b—7) have been formed ?
(17) Expressin de;imals 2mand 80 cm. |
(18) Express 5 paise usiné decimals as rupees.
(19) Express 9 cm 8 mm using decimalsl incm.
(20) Theareaofa sqpére clothis 64 sz’v then find its perimeter.
(21) Express 26 kg. 50 g. using decimals inkg,
(22) Express 35 m 20 cm using decimals in Meters.
(23) How much does one tenth and one-hundredth of a sum be ?
8 Write whether the statement is true or false. (Q. No. 24 to 28)

(24) 3x+2=1isan equation.

(25) We can get cquivalent ratios by multiplying the numerator by the denominator and denominator
by the numerator. '

B
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30:20and 24 : 16 is an equivalent ratio.

(26)
(2;1) If two ratios arc not equal, then we say that they are not in proportion.
28) 1fthe cost of 6 cans of juice is T 210, then the cost of 4 cans of juice is T 140.
SECTION - B
° Solve the following as per instruction. (Q. No. 29 to 39, Each carry 2 Marks.) (22)
(29) Findoutthe smallc.r and greater number from 0.33, 0.03, 3.3 and 3.50.
(30) Subtract: 15-10.632
(31) InMathematics test, the following marks were obtained by 30 students. Arrange these marks ina
table using tally marks.
2 5 3 4 6 | 5 5 6 1
1 2 2 B 5 2 4 5 5 6
5 1 6 2 3 5 2 4 1 5
(32) On the basis of Q.31 answer the following.
(A) How many students obtained marks equal to or more than 4.
(B) How many students obtained marks below 2 ? .
(33) What is the total length of rope to be used to wrap a rope three times around a 75 Meter side
~ square field 7
OR
(33) Find the area of a piece of wood whose length and width are 12 cm and 4 cm respectively.
(34) By splitting the following figures into rectangles find their areas. (The Measures are given in centi-
meters) '
4l e-(24.u1.) B (3) saly-u
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(35)

(36)

G7)

(38)

(39)

Complete the table and by inspection of the table find the solution to the equation 5t =35
t 3 .].4 5 6 7 8 9 10 11
5t

Form expressions using a, 2 and 7. Every expression must have a in it. Use only two number
operations. These should be different.

Determine 25 cm : 1m and< 40 : T 160 form a proportion. Also write the middle terms and extreme
terms where the ratios form a proportion. -

Give two equivalent ratios of 10 ; 3.
Cost of 105 envelopes is T 35. How many envelopes can be purchased for% 102

- SECTION-C

Solve the following : (Q. No. 40 to 45) (Each carry 3 Marks) (18)

(40)

Ravi purchased 5 kg 400 g rice, 2 kg 20 g sugar and 10 kg 850 g flour. Find the total

. weight of his purchases.

(40)

(41)

(42)

(43)

(44)

OR

Igbal bought 3 m 20 cm cloth for his shirtand 2 m 5 cm cloth for his trouser. Find t_he
total length of cloth bought by him.

Total number of animals in five villages are as follows:

Village A : 80 Village B : 125 Village C: 90 Village D: 40 Village E : 65

Prepare a pictograph of these animals using one symbol ® to represent 10 animals.

A room/is 4 m long and 3 m 50 cm wide, How many square metres of carpet is needed
to cover the floor of the room ?

Which of the following equation has the solution 12 ?
()n+55=60 (2)5m=60 (3)100-3p=70
Take vijay’s present age to be h years.

(1) What will be his age after 6 years ?

(2) What was his age 4 years back ?

3) Vij ay,s‘gmndfather is 6 times his age. What is the age of his grandfather ?

—
- ey,
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(45) GivenABoflength 7.3 cmand CD of length 3.4 cm, constructa line segment)—(—Y such

that the length of XY is equal to the difference between the lengths of AB and CD.
Verify by measurement,

SECTION -D
° Solve as per instructions : (Q. No. 46 to 48) (Each carry 4 marks) | (12)

(46) The following is information about customers who have been in the shop for six consecutive days is
show below.

Days ‘ Sunday | Monday | Tuesday | Wednesday|Thursday | Friday.

Number of Customers 65 40 30 50 20 70

Draw a bar graph to represent the above information choosing the scale of your choice on graph paper

OR

The details of books in a library are given below. (Take 1 unit length =5 books). Draw a bar graph

to represent below data.

Type of Blooks ~ Number of Books
Story Picture 45
Mythology stories 30
Teenager stories 20

Poetry éollection 10
Enélish stories 25

(47) Draw aline segment of length 9.6 cm and construct its Perpendicular bisector.

(48) Draw a circle of radius 3.4 cm. Draw any one ofits chords,

(i) AR (W) P
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Municipal School Board, Ahmedabad

Second Term Examination - 2020

Std.-6
Date : 01-04-20 Sub.-Science and Technology Total Marks - 80
Time : 8-30 to 11-30 Roll No. :-
Q.1 Choose the correct answer from the following questions. [16]

(1) Identify the aquatic animal from the fi ollowing,.

(A) Turtle (B) Dolphine (C) Crocodile (D) Frog
) and are biotic components of their habitats.
- (A) Plantandsoil ! (B) Airand water
© Rock and animals (D) Plantand animals

(3)  Choose the correct option according to its ascending order of length. -

(A) 30mm,30cm,3m,3km ‘(B) 3m,3km,30mm,30cm

(C) 30cm,3m,3 km,30mm . (D) 3km,30mm,30cm,3m

e

(4)  Arrange the length of shadow in its descending order which is formed at 10 : 00 O’clock in the
morning, 1 : 00 O’clock at afternoon and 4 : 00 O’clock in the evening.

(A) 1:000’ clock at afternoon, 10 : 00 O’ clock in the morning, 4 : 00 O’ clock in thé evening

(B) 4:000’ clock in the evening, 1 : 00 O’clock at afternoon, 10 : 00 O’clock in the morning

(C) 4:000’clock in the evening, 10 : 00 O’clock in the momning, 1 : 00 O’clock at afternoon.

(D) 10:000O’clock inthe mpming, 4:00 O’cloc'k‘in the evening, 1 : 00 O’clock at afternoon.
(5) Whatis required for the formation of shadow of an object ? -

(A) Source of light, opaque object and screen, all three.

(B) Only source of light and screen.

(C) Source of light, transparent object and screen, all three. ' |

(D) Only source of light and opaque object.

dle- (i) (Aeu-t 244 251 dlew (1) §aUo-¢
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(6) Fromthe following, which event does not formed by the shadow ?
(A) Eventofsolareclipse (B) Eventoflunar eclipse
(C) EventofRainbow formation (D) Both(A)and(B)
(7)  Inthe given diagram, device works on which principle ?
Mirror | Fr“—‘—:
:__5 Mirror 2
(A) Absorption of light (B)  Reflectionoflight
(C) Motion of light in straight line (D) None of these.
‘) Exi)lain the condition of bulb of complete electric circuit in which electric current flow for a some
time.
(A) Cool and bulb will not glow (B) Warmand bulb will not glow
(C) Warmand bulbwill glow (D) Cooland bulb will glow
(9) Inthe following diagram, how many pole does magnet have ? )
tA) One pole (B) Sixpole (C) Fourpole (D) Twopole
(10) Inthe following diagram, single magnet is formed when Y magnet is attracted near N-Pole of X
magnet. For the single magnet P and Q act as a which pole ?
P ~ Q
Magnet - X Magnet - Y
(A) PasaS—-Poleand Q asaN —Pole
(B) PasaN-—PoleandQasS—Pole
(C) PasaS-—Poleand QasaS-Pole
(D) P asa N - Pole and Q as a N — Pole
- Yle-(2lu) Qs 1 2 5l )

é&ﬁ%’ -€
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(11) Frorﬁ the following objéct, In which magnet is not used ? ~
(A) DVD (B) LCDTV
(C) Computer Hard Disk (D)  Tubelight
(12)  Which circumstances arise if your village has more number of borewell ?
(A) Underground watc? goesto lowerdepth  (B) Undergro(md water goes to more depth
(C) Increases the rain (D) Both(A)and(C) -
(13)  Aswe go higher from the earth level air becomes
(A) Warm (B) Opaque (C) Thn (D) Dense

(14) When Nutanblow the air on her glass of spects to clean it, the vapour gets collected on her glass of
spects, because K

(A) Water present in the aif getsevoparated

(B) Vapour present in the air gets condensed

(C) During blowing of air, water preéent in the mouth stick to the glass of spects.
(D) Both(A) ‘and (B)

(15) Inthe following diagram ofair constitution, ‘P’ portion indicates which gas ?

(A) Nitrogen : (B)  Carbon dioxide, water vapour

(C) Oxygen | , D) ‘None of these

(16) Whose responsibility for the management of waste ?

(A) Citizen | (B)  Government organization
(C) Publicorganization D)  Allofthem
a.‘e-(bi.tu.) Qs A7 2}'&‘11?0 (3) ’ saly-¢
= ,ug _} .

Scanned with CamScanner



[A]
a7
(18)
(19)

20)

21)

(22)
[B]

(23)
(24)
(25)
(26)
@7)

(28)

(29)

[A]
(30)
€3y

(32)

@ Increased endurance of co

An
swer the following questions in one sentence. ’ 161

Write the use of weather cock

Write the function of gizzard.
Which magnet is used jn compass ?
Give your opinion about conductivity for sea water.

What shape do you want to create that has a circular shadow when grasped one way and has a
rectangular shadow if grasped the other way ?

Give an example of non-living object having any two characteristics, such as a living organism.
Answer the following questions in three - four sentances. (Any Five) [10]
Is the plant living or non-living ? Give the reason in support of your answer.

Why is speed so important for the animals living in the Grass lands ?

‘What will you do to identify piece of iron and piece of magnet ?

For which work do you use water at your home ?

What is a wind ? For which work winci can be used ?

What speciﬁc tips would you give to a cleaning worker for proper disposal of waste ?

Height ofpolé, 452,30 m, convert it nto cm and ram. '

Answer tﬁe following quqstions in ﬁve to seven sentances. (Any four) [12]
What steps (io you take to pl;otect'the magnet’s magnetism ?

Givea detailéd understanding of the interior design of the torch.

Following are the factors responsible for the occurrence of rainfall, adjust it in the correct order.

e Becoming cloud ® Condensation

ndensed water droplets

e Becoming watercress

@ Shower rain

® Evaporaﬁon

()

Rua i 2slde ® | ' i Lot
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(33)

How do you measure the distance of an ant travels from point Ato D ?

B D

(34) How it can be determined that light travels in a straight line ?
[B] Draw the diagram and label it. (3
(35) Rainwater harvesting from the roof.
Q4 [A] Do as directed.
(36) Dothe classification., [6]
Motion of rocket, needle of sewing machine, motion of bull in oil mill, motion of bicycle wheels, the
motion of the stone falling free from the height, the motion of swing.
Motion along a straight line Circular motion ‘ Rotational motion
(37) Matchthefollowing. g h ' 4]
e ety e A i "
(1) - Desertarea = . (A) Needle shaped leaf -
(2) Mountainousarea (B)' ' Grass
(3) Aguaticarea . (C) Conversionofleafinto spine
(4) Landarea - (D) Hol]ow stems
[B] Answer in detail. (Any two) | | : 8]
(38) How do you help your father to rﬁake a vermicompost fertilizer ?‘ i
(39) Giveadetailed understanding of how the atmosphere s purified.
(40) What will we do to collc‘ct rain water ?
‘D'...!-(ibi.t—u.) m R@eur a4 éa;ﬂ«lm ) . s ; 61‘1%-?
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